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QUESTION 1

Which two statements describe the authentication method used with Cisco Intersight REST API Requests? (Choose
two.)

A. The REST API request contains a base64-encoded signature of the message content and headers.
B. The REST API request message body is encoded as a SHA384 hash and then signed with the API Key ID.

C. The Cisco Intersight Web service verifies the signature of incoming request with the RSA public key for the API Key
ID.

D. The incoming REST API request is challenged by the Cisco Intersight Web service with a request for the RSA private
key.

E. The message body is encoded as a SHA256 hash if the message body is not empty and then signed with the API
Key ID.

Correct Answer: AC

Reference: https://documenter.getpostman.com/view/30210/SVFWNGYc?version=latest
https://github.com/ansible/ansible/pull/51309/files/a68de94464ad34b4e6836f86662ef0ba6060a2e

QUESTION 2

Which two components are required from the Cisco Intersight REST API Authentication? (Choose two.)
A. SHA256 hash of the message body and message headers.

B. SHA256 hash of the message body, including empty message bodies.

C. RSA private key with a key size of 2048.

D. RSA private key with a key size of 1024.

E. SHA384 hash of the message body, excluding empty message bodies.

Correct Answer: AC

Reference: https://documenter.getpostman.com/view/30210/SVIWNG6Y c?version=Ilatest
https://github.com/ansible/ansible/pull/51309/files/a68de94464ad34b4e6836f86662ef0ba6060a2e

QUESTION 3

Which two initial actions should be taken when exploring automation capabilities for ACI? (Choose Two)
A. Write scripts that leverage the Python Standard Library

B. Look for an open-source package or SDK

C. Use the API Inspector and test API Calls
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D. Develop an open-source package or SDK
E. Use the ncclient command to explore the NETCONF capabilities

Correct Answer: BC

QUESTION 4

Refer to the exhibit.

Dn

sys/chassis-4/blade-1
sys/chassis-4/blade-3
sys/chassis-4/blade-5
sys/chassis-4/blade-7
sys/chassis-5/blade-1

Which two Cisco UCS PowerTool commands provide this output? (Choose two.)
A. Get-UcsServer | Select-Object Dn

B. Get-UcsRack Systems | Select-Object Dn

C. Get-UcsBlade | Select-Object Dn

D. Get-UcsRackUnit | Select-Object Dn

E. Get-UcsSystems | Select-Object Dn

Correct Answer: AC

Reference:

https://lwww.cisco.com/c/en/us/td/docs/unified_computing/ucs/sw/msft_tools/powertools/ucs_po
wertool_book/ucs_pwrtool_bkl1.html

QUESTION 5

Which two items are types of application isolation options available when Kubernetes is deployed with the ACI CNI plug-
in? (Choose two.)
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A. VM lIsolation

B. Cluster Isolation

C. Server Isolation

D. Process Isolation

E. Namespace Isolation
Correct Answer: BE

Reference : https://cloud.google.com/kubernetes-engine/docs/concepts/multitenancy-overview
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